
Teile sind nicht montiert
Components are not assembled

 1
70

 

 612 

 1
0 

 451 

 3
8 

3693

115691

115594

2926

2918

Art.-Nr.:
Part-no.:

Menge:
Amount:

Benennung DE:
Description DE:

Benennung EN:
Description EN:

115594 1 RWA MA12/VPC-9025 RWA MA12/VPC-9025 | Rear panel

115691 1 RWA MA13/VPC-9025-ITA-21 RWA MA13/VPC-9025-ITA-21  | rear panel

3527 3 Schraube Zyl. M 4x 14 Head cap screw M 4x 14 T20 | ISO 14579 - A2

2926 3 Zyl.-Schraube M 4x 20 T20 Head cap screw M 4x 20 T20 | ISO 14579 - A2

3693 3 Senkschraube M 4x 10 T20 Flat headed screw M 4x 10 T20 | ISO 14581 - A2
2918 12 Zyl.-Schraube M 3x 30 T10 Head cap screw M 3x 30 T10 | ISO 14579 - A2

Montageanleitung/instruction sheet

gespeichert/saved: 07.05.2024 08:14:49

1:5
SSA-VPC-9025-MAxx13 Schnittstellenaufnahme

Benennung/Designation:Maßstab/Scale:

DIN A3

Blatt/Sheet
1 von 1115712

Artikel-Nr./PartNo.:

SSA-VPC-9025-MAxx13 | Interface support

0
Index:

7654

F

E

D

A

B

81 32

C

D
ie

se
 te

ch
ni

sc
he

 U
nt

er
la

ge
 is

t g
ei

st
ig

es
 E

ig
en

tu
m

 d
er

 F
a.

 IN
G

UN
 P

rü
fm

itt
el

ba
u 

G
m

bH
. S

of
er

n 
ke

in
e 

an
de

rsl
au

te
nd

e 
sc

hr
ift

lic
he

 v
er

tra
gl

ic
he

 R
eg

el
un

g 
be

st
eh

t, 
da

rf 
sie

 o
hn

e 
au

sd
ru

ec
kl

ic
he

 v
or

he
rig

e 
Ei

nw
illi

gu
ng

 w
ed

er
 v

er
vi

el
fa

el
tig

t, 
no

ch
 v

er
br

ei
te

t, 
no

ch
 d

rit
te

n 
Pe

rso
ne

n 
in

 so
ns

tig
er

 W
ei

se
 z

ug
ae

ng
lic

h 
ge

m
ac

ht
 w

er
de

n,
 n

oc
h 

an
de

rw
ei

tig
 m

iss
br

au
ch

t w
er

de
n.

Th
is 

te
ch

ni
ca

l d
oc

um
en

ta
tio

n 
is 

in
te

lle
ct

ua
l p

ro
pe

rty
 o

f I
N

G
UN

 P
ru

ef
m

itt
el

ba
u 

G
m

bH
. U

nl
es

s o
th

er
w

ise
 

co
nt

ra
ct

ua
lly

 a
gr

ee
d 

in
 w

rit
in

g,
 it

 is
 n

ot
 p

er
m

itt
ed

 to
 d

up
lic

at
e 

or
 d

iss
em

in
at

e 
it,

 n
or

 m
ay

 it
 b

e 
m

ad
e 

ac
ce

ss
ib

le
 to

 th
ird

 p
ar

tie
s i

n 
an

y 
ot

he
r w

ay
, o

r o
th

er
w

ise
 b

e 
m

isu
se

d 
w

ith
ou

t o
ur

 e
xp

lic
it 

pr
io

r c
on

se
nt

.

RoHS-3


	Blatt1
	Zeichenansicht1
	Zeichenansicht2
	Zeichenansicht4


